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S²Ìöì“þÄ„þ !î¦þyöì†îû ‹˜Ä þ™,í„þ vþz_îûþ™e îÄî£yîû „þîûV 
 

!î¦þy† éôé „þ 
£zvþz!˜Ýþ éôé 1 

 

1Ð öëöì„þyì˜ ”%£z!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒé S2 × 5V 

 „þV x§¬‚¦þRöì„þ x %̃¢îû’ „þöìîû ¢!î„þÒ„þ ç !˜!îÅ„þÒ„þ ²Ì“þÄöìÇþîû ›öì„Ä þ™yíÅ„þÄ „þöìîûyÐ 

 …V öë ö„þyöì˜y ~„þ ²Ì„þyîû xëíyíÅ x %̃¦þî ¢Á™öì„Åþ ¢‚!Çþ® Ýþ#„þy öœöì…yÐ 

 †V !˜öìÁ¬ ²Ì”_ ”,ÜTyhsþ=!œîû ö„þy ä̃!Ýþöì“þ ö„þy ä̃ ²Ì„þyîû „þyîû’ ²Ìë%_« £öìëûöìŠé “þy !˜’Åëû „þîû ƒ 

  xV vþz_îû ¢Á™!„Åþ“þ Kþyöì˜îû ²Ì!“þ „þyîû’ xy›yîû xydy 

  xyV xydéôé›˜¢‚öìëy† x %̃!›!“þîû ²Ì!“þ „þyîû’ 

  £zV ‰þÇ%þ!îû!wëû ‰þyÇ%þ¡ì ²Ì“þÄöìÇþîû ²Ì!“þ „þyîû’ 

  {V £hßþéôéöìœ…˜# ¢‚öìëyöì†îû ²Ì!“þ „þyîû’ {Ù»öìîûîû £zFŠéy 

  }V ‡Ýþ„¹‚öì¢îû ²Ì!“þ ‡Ýþ „þyîû’ 

 ‡V ”)îûßþi Ÿöì·îû ²Ì“þÄÇþ „þ#¦þyöìî ¢½þîÚ x§¬‚¦þRöì„þ x %̃¢îû’ „þöìîû vþz_îû ”yçÐ 

2Ð öëöì„þyì˜ þ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒé S1 × 15V 

 „þV “þ„Åþ¢‚@ùÌöì£ ²Ì”_ î%!kþîû œÇþ’ îÄy…Äy „þîûÐ ”#!þ™„þyëû œÇþ’!Ýþîû „þ#¦þyöìî ~î‚ ö„þ˜ þ™!îûî“Åþ˜ „þîûy £öìëûöìŠéÚ 

þ™!îûî“Åþ˜!Ýþ !„þ ¢öìhsþy¡ì‹˜„þÚ S6 + 6 + 3V 

 …V òx˜Äíy!¢!kþƒ !e!î„yóéôôôé~£z !“þ˜²Ì„þyöìîûîû x˜Äíy!¢!kþ x§¬‚¦þRöì„þ x %̃¢îû’ „þóöìîû vþz”y£îû’¢£ îÄy…Äy „þöìîûyÐ S15V 
 

£zvþz!˜Ýþ éôé 2 
3Ð öëöì„þyì˜ ”%£z!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒé S2 × 5V 

 „þV “þ„Åþ¢‚@ùÌ£ x %̃¢îûöì’ îÄy!®îû œÇþ’!Ýþ ¢‚öìÇþöìþ™ îÄy…Äy „þîûÐ 

 …V ö„þîœîÄ!“þöìîû„þ# !œD „þyöì„þ îöìœÚ ~„þ!Ýþ þ™Mþéyîëûî!î!ŸÜT ö„þîœîÄ!“þöìîû„þ# x %̃›y˜ †àþ˜ „þîûÐ 

 †V “þ„Åþ¢‚@ùÌ£ ”#!þ™„þy x %̃¢yöìîû xyöìœy‰þ˜y „þîûéôôôéò¢!¨?þ ¢y„Äîy ä̃ þ™Çþƒó éôôôévþz_« œÇþ’!Ýþ ¢öìhsþy¡ì‹˜„þ !„þ˜yÐ 

 ‡V ¢ê²Ì!“þþ™Çþ ö£cy¦þyöì¢îû œÇþ’!Ýþ vþz”y£îû’¢£ îÄy…Äy „þîûÐ 

4Ð öëöì„þyì˜ þ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒé S1 × 15V 

 „þV “þ„Åþ¢‚@ùÌ£ x %̃¢yöìîû x %̃!›!“þîû œÇþ’!Ýþ îÄy…Äy „þîûÐ vþz_« œÇþ’!Ýþöì„þ ö„þ˜ ~î‚ „þ#¦þyöìî ”#!þ™„þyëû þ™!îûî“Åþ˜ 

„þîûy £öìëûöìŠéÚ !îŸ”¦þyöìî îÄy…Äy „þîûÐ S6 + 9V 

 …V !˜Á¬!œ!…“þ x %̃›y˜=!œîû Söë ö„þyöì˜y !“þ˜!ÝþîûV öÇþöìe ¢y„Ä‟ þ™Çþ ç ö£“%þ !˜öì”ÅŸ „þöìîû ö£“%þ!Ýþ ö„þ˜ ”%ÜT “þy 

îÄy…Äy „þöìîûy éôôôé S3 × 5V  

  xV þ™îÅ“þ î!£«›y ä̃ öëöì£“%þ “þy ²Ìöì›ëûÐ 

  xyV vþzÝþþ™y!… þ™y!… ö„þ˜˜y “þy vþzvþüöì“þ þ™yöìîûÐ 

  £zV xydy !˜“þÄ öëöì£“%þ “þyîû „þyîû’ xyöìŠéÐ 

  {V xydy ¢yîëûî‟ ö„þ˜˜y “þyöì“þ xydc „›Å xyöìŠéÐ 
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!î¦þy† éôé … 
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5Ð öëöì„þyì˜ þ”%!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒé S2 × 5V 
 

 „þV ¢“þÄŸy…# þ™kþ!“þîû ¢y£yöìëÄ „þ#¦þyöìî îy„þÄ¢›!ÜTîû ¢‚†!“þ !˜’Åëû „þîûy ëyëû‟ vþz”y£îû’¢£ îÄy…Äy „þöìîûyÐ 

 …V ö„þyöì˜y ë%!_«îû ²Ìy„þ!Ò„þ ²Ì›y’ îœöì“þ „þ# öîyGþyëûÚ vþz”y£îû’¢£ ¢‚öìÇþöìþ™ îÄy…Äy „þîûÐ 

 †V þ™öìîûyÇþ ²Ì›y’ þ™kþ!“þöì“þ ö„þyöì˜y ë%!_«îû ÷î„“þy !„þ ²Ì›y’ „þîûy ëyëûÚ ö“þy›yîû vþz_öìîûîû ¢þ™öìÇþ ë%!_« ”yçÐ 

 ‡V ò¢“þÄŸy…# þ™kþ!“þ £öìœy !˜’Åëû þ™kþ!“þó éôôôévþz”y£îû’¢£ vþz!_«!Ýþîû îÄy…Äy ”yçÐ 

6Ð öëöì„þyì˜ ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒé S1 × 15V 

 „þV i) ²Ìy„þ!Ò„þ ²Ì›y’ þ™kþ!“þ ~î‚ þ™öìîûyÇþ ²Ì›y’ þ™kþ!“þîû ¢Áºõþ îÄy…Äy „þöìîûyÐ S4V 

  ii) !˜Á¬!œ!…“þ ë%!_«!Ýþîû ÷î„“þyîû ²Ìy„þ!Ò„þ ²Ì›y’ ”yç ƒ S4V 

   ë!” xyöì‹Å!rÝþ˜y ö‹yöìÝþ öëy† ö”ëû‟ “þy£öìœ îÊy!‹œ xíîy !‰þ!œ “þy î‹Å˜ „þîûöìîÐ ë!” £z„%þöìëûvþîû ö‹yöìÝþ 

öëy† ö”ëû‟ “þy£öìœ !‰þ!œ xíîy öþ™îû& “þy î‹Å˜ „þîûöìîÐ !‰þ!œ “þy î‹Å˜ „þîûöìî ˜yÐ ¢%“þîûy‚‟ ë!” îÊy!‹œç 

“þy î‹Å̃  ˜y „þöìîû ~î‚ öþ™îû&ç “þy î‹Å̃  ˜y „þöìîû‟ “þy£öìœ xyöì‹Å!rÝþ˜yç ö‹yöìÝþ öëy† ö”öìî ˜y ~î‚ 

£z„%þöìëûvþîûç ö‹yöìÝþ öëy† ö”öìî ˜yÐ 

  iii) ²Ìy„þ!Ò„þ ²Ì›y’ þ™kþ!“þîû ¢y£yöìëÄ !˜Á¬!œ!…“þ îy„þÄ!Ýþ ßþº“þƒ¢“þÄ !„þ˜y “þy þ™îû#Çþy „þîû ƒ S3V 

   [ ( )] [ ( )]P Q R Q P R      

  iv) !˜Á¬!œ!…“þ ë%!_«!Ýþîû ÷î„“þyîû þ™öìîûyÇþ ²Ì›y’ ”yç ƒ S4V 

   
( ) ( ), ( ) ( ), ( ) ( ),M N O P O Q R S R T M U

R

        


 

 …V i) îy„„þ ”,ÜTyhsþ „þyöì„þ îöìœÚ vþz”y£îû’¢£ îÄy…Äy „þîûÐ S3V 

  ii) ¢“þÄŸy…# þ™kþ!“þîû ¢y£yöìëÄ !˜Á¬!œ!…“þ ë%!_«!Ýþîû ÷î„“þy !î‰þyîû „þîû ƒ S4V 

   xy›îûy ›yŠé „îûî ë!” î,!ÜT £ëû ~î‚ xy›îûy ¢¤y“þyîû „þyÝþî ë!” “þy ˜y £ëûÐ ¢%“þîûy‚‟ £ëû xy›îûy ›yŠé „îûî 

xíîy xy›îûy ¢¤y“þyîû „þyÝþîÐ 

  iii) îy„þÄ ”%!Ýþ þ™îûßþ™öìîûîû öëï!_«„þ ¢›yíÅ„þ !„þ˜y‟ ¢“þÄŸy…# þ™kþ!“þîû ¢y£yöìëÄ ö”…yç ƒ S4V 

   A B  ~î‚ A B   

  iv) '( ) 'A B C   îy„þÄ!Ýþ !„þ ' 'C A   îy„þÄ!Ýþöì„þ ²Ì!“þþ™y”˜ „þöìîûÚ ¢“þÄŸy…# þ™kþ!“þöì“þ ²Ì›y’ 

„þöìîûyÐ S4V 
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7Ð öëöì„þyì˜ þ”%!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒé S2 × 5V 
 

 „þV ¢‚öìÇþöìþ™ îÄy…Äy „þîû ƒ ²Ì“þÄëû £œ ¢y›y˜ÄÐ 

 …V îy‰þÄ þ™” ç îy‰þ„þ þ™öì”îû ›öì„Ä þ™yíÅ„þÄ îÄy…Äy „þîûÐ 

 †V vþz”y£îû’¢£ þ™”öìëy†Ä Ÿ· ç þ™”y‚Ÿöìëy†Ä Ÿöì·îû ›öì„Ä þ™yíÅ„þÄ îÄy…Äy „þîûÐ 

 ‡V vþz”y£îû’¢£ ¢”íÅ„þ‟ ˜~ŒíÅ„þ ~î‚ £#˜yíÅ„þ þ™öì”îû þ™yíÅ„þÄ îÄy…Äy „þöìîûyÐ 

8Ð öëöì„þyì˜ ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒé S1 × 15V 

 „þV i) îy‰þ„þ þ™” xöìíÅ @ùÌ£’ „þîûöìœ x›)“Åþ ç ›)“Åþ þ™”mëûöì„þ x›)“Åþ‟ ›)“Åþ ç =’îy‰þ„þ þ™öì” !î¦þy† „þîûy ëyëû ö„þ˜ 

éôôôévþz”y£îû’¢£ îÄy…Äy „þîûÐ S7V 

  ii) þ™” „þ#Ú þ™” ç ˜yöì›îû ›öì„Ä þ™yíÅ„þÄ „þ#Ú S2 + 6V 

 …V !îöì„ëû„þ „þyöì„þ îöìœÚ þ™îû!šþ!îû ²Ì”_ !îöì„ëû„þ “þy!œ„þy!Ýþ vþzöìÍÔ… „þöìîûyÐ öëyöì¢šþ !„þ þ™îû!šþ!îû ²Ì”_ !îöì„ëû„þ 

“þy!œ„þy!Ýþ @ùÌ£’öìëy†Ä îöìœ ›öì˜ „þöìîû˜Ú xyöìœy‰þ˜y „þöìîûyÐ S3 + 2 + 10V 
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English Version : 

(Use a separate Answer book for each group) 
 

Group – A 

Unit - I 
 

1. Answer any two questions of the following: (2 × 5) 

 a) Distinguish between savikalpaka and nirvikalpaka pratyaksa following Annambhatta. 

 b) Write a short note on any one type of ayathārtha anubhava. 

 c) Determine what kind of kāraṇa is exemplified in each of the following cases: 

  i) My atman as the cause of the knowledge about answers. 

  ii) Ātma-manah-samyoga as the cause of anumiti. 

  iii) The visual sense organ as the cause of visual perception. 

  iv) Iswara's iccha as the cause of hand-pen samyoga. 

  v) A jar is a cause of destruction of that jar. 

 d) How is the perception of a distant sound possible? Discuss after Annaṃbhatta. 
 

2. Answer any one question of the following: (1 × 15) 

 a) Explain the definition of buddhi as stated in Tarkasamgraha. How and why the 

definition has been changed in Dipika? Is the change satisfactory? (6 + 6 + 3) 

 b) 'Anyathāsiddhih trividhā' – following Annambhatta explain with examples the three 

types of anyathāsiddhih. (15) 
 

Unit - II 
 

3. Answer any two questions of the following : (2 × 5) 

 a) Explain in brief, the laksana of Vyāpti, according to Tarkasamgraha. 

 b) What is Kevalavyatireki linga? Construct a five-membered kevala vyatireki anumāna. 

 c) 'Sandigdha sādhyavān paksah' – whether this definition is satisfactory, discuss in the 

lines of Tarkasamgraha dīpikā. 

 d) Explain with an example the laksana of satpratipaksa hetvābhāsa. 

4. Answer any one question of the following: (1 × 15) 

 a) Explain the definition of anumiti after Tarkasamgraha. Why & how is the definition 

changed in Dipikā? Explain in detail. (6 + 9) 

 b) Point out the sādhya, paksa and hetu in any three of the following cases of anumiti and 

explain why the hetu is defective. (3 × 5) 

  i) The hill has fire as it is knowable. 

  ii) Ostrich is bird as it can fly. 

  iii) Atmā is eternal as it has cause. 

  iv) The self has parts, because it has selfhood. 
 

Group – B 
 

Unit – I 

5. Answer any two questions of the following: (2 × 5) 

 a) Explain, with example, how the consistency of a set of sentences is ascertained by the 

method of truth tree. 

 b) What is meant by conditional proof of an argument? Explain briefly with example. 

 c) Can the validity of an argument be proved by indirect proof method? Give reason for 

your answer. 

 d) 'Truth tree method is a decision procedure' – Explain the statement with examples. 
 

 

 



(4) 
 

 

6. Answer any one question of the following: (1 × 15) 

 a) i) Explain the relation between conditional proof and indirect proof. (4) 

  ii) Give conditional proof of validity of the following argument: (4) 

   If Argentina joins the alliance, then either Brazil or Chile boycotts it. If Equador 

joins the alliance, then either Chile or Peru boycotts it. Chile will not boycott the 

alliance. Therefore, if neither Brazil nor Peru boycotts it, then neither Argentina 

nor Equador joins the alliance. 

  iii) Use the method of conditional proof to verify that the following sentence is a 

tautology: (3) 

   [ ( )] [ ( )]P Q R Q P R      

  iv) Give the indirect proof of validity of the following argument: (4) 

   
( ) ( ), ( ) ( ), ( ) ( ),M N O P O Q R S R T M U

R

        


 

 b) i) What is meant by a counter example? Explain with example. (3) 

  ii) Verify the validity of the following argument by truth-tree method: (4) 

   We shall fish if it rains and swim if it does not. Therefore, we shall fish or swim. 

  iii) Show by using truth-tree method, whether the following two sentences are 

logically equivalent with each other: (4) 

   A B  and  A B   

  iv) Does the sentence '( ) 'A B C   imply the sentence ' 'C A  ? Prove by the 

truth-tree method. (4) 
 

Unit - II 
 

7. Answer any two questions of the following: (2 × 5) 

 a) Explain in brief: Concept is universal. 

 b) Explain the distinction between terms of thought and terms verbal. 

 c) Explain with examples the distinction between categorematic and Syncategorematic 

words. 

 d) Explain, with examples, the differences among positive, negative and privative terms. 
 

8. Answer any one question of the following: (1 × 15) 

 a) i) Why, considered as terms verbal, abstract and concrete terms are to be divided into 

abstract, concrete and attributive terms? Explain with examples. (7) 

  ii) What is a term? What is the distinction between a term and a name? (2 + 6) 

 b) What is a predicable? Mention the list of predicable given by Porphyry. Is the list of 

predicable given by Porphyry acceptable according to Joseph? Discuss. (3 + 2 + 10) 

 

———— × ———— 
 


